510™ =
5 - n = T T T
© L. .. D L. [ S T P
S ; = ; : P
: L. 4 8 . . H
S F U o L U SUT T SRR PR SR
) - i 5 : . :
o L i : : :
| 1. -1 . .
1 : 107 # i : R
(T i L. B LA sl I
o el - h I
: : B 7 T 1| |4 1]
" : L ! {1 | LH i
" " Sl bl K i
-2 411 -} : - |31 L5l B Ak
10 1 -F J ] y iy
Co TN : - b1
o _””!ﬂ'” ...!....!....I... .91()L—‘%_....I....!....I....I....I....
§ b {1t.. B i Py § r i i g
L f % I : . ]
[ o il ] | U i) +
0.5 1-1TH SEENTIET 141 1Tt 1 [ } ﬁ ]
o A s g -
L 0.5L : :

0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQMstep3_TT_CKF

—— DQMstep3_TT_default

—— DQMstep3_TT_ckfPixelLess

|
w

|
N

=

z

oo a,) (cm)

SICEWATL

LT ; 16 I ! L
Lt ; RERINENIE
_ s 5 - 4 -
107 i e :
L. Ld | [

[EEN
3
[ )

Ratio

iy
TTTT] T
TT[TTTI[IITTTT

h k : : g : : N A :
10 A O 1 ost== -t BT gl

-2 -1 0 1 2 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

0.5

w
|
w
|
N
|
=

=

owp./p,)

107°F; i ‘
1053 il

2 3
TP n (PCA to beamline)

|
W[



	Contents
	Page 1


